EARAZROREIERT — 2 N—XBISY —F 20185F9R16H (H) 4MIBR+#H4H

2R WPEYY: 5% GRE ETE] Bk (Xl & | (REwml — | 4 (A) 18000 &
iy =] =] T
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
—: 2 | EHF 1:54. -3-3- ) 7 4 MAE (FER)
ilglg| 77y rnzs— 4 B (5_)6 3-3-3-3 |38.2| 83 3 (2;3 HEEL
R:v2RUZYRAIZX B:7ILTZIAOF 1 — FEEX e
= FHEBZ :55. 01— . . JEER A (ER)
2 6 HIJLO X N H o2 54.0% (12515/20) 2-2-1-1 38.9| 80.3 1 (4+742) i
R:FA—TZANA B:TUwRHT 759577 — I
. tg@/\ . 7R . . *I\—F;%:t (;i)
311|811 LA—% o2 AR 1(?8)6 7-7-6-5 |39.9| 67.4 | 5 (4_660) aﬁm%i
Zonf4n Bxy TR N7 7 — L4
Sy = JNERE : -3-3- HBHEZ (FX)
4 MRS L) o2 e (12517/20) 3-3-3-5 |40.4| 64.6 | 7 (4:326) it
RV RYZYZAIZ B:vy¥x—O4v0 =H =88
> . 2 | fEkth— 1:57. 1-1-2-2 | 41. . 2 448 | SHEERL (ER)
B s Ly as—7 2T o 8| %3 o | Kb
R:xA1=Gr7—X B:RT7>U2Y H—L— - TxIN> - T7—LARSE
—a =, = o= 2 | NIXE& 1:58.7 -3-3-4 | 42. 4. 4 444 | AT (EXR)
6lglg| TAT1=—TF> " 7530 & 5 3| &0 +6) =Zmte
RYYRG4TFTR B:TIRITA HFASZREy K
. < isp NpE :58. ~7-7- . . =g (FEX)
7l5l5| x1vavzFsy S I 7 T A et Ikl N I b
Righ—y B:HUHO-X KEHIS

FILAS 4 2 | DIEEEER 2:00.2 6-6-7-7 |43.3| 45.0 | 9 486 | BERBIME (ER)
EE 2| 7N aA—L %53.0 (8) B TNT KT

0TSy s a4 K BiAAVES K- (46) | pimupin
P ILAS > o2 | =R 2:05.1 7-9-9-9 |46.7| 21.2 | 8 474 | HER (ER)

97| 7| 7T R= 54.0 (544) 4e) | R TATRAT
:7-07+—Z BIVEXRCF e

@ 71 L

£ 51.5-38.5

NA>a2A L | 13.1-11.2-13.1-12.8-12.9-13.0-12.7-12.9-12.9

® 1 —F—@EBIRfL

1a—+— (x3,6) (4,9,8)-2-(1,7,5)

Ral=9r= (*3,6) (4,9,8)-2(1,5)7

Ja=zr= (3,%6) (4,9,8)1(2,5)=7

40—F— (3,%6)9-8(4,1)-(2,5)=7

[ /N5

B O 9 870M | | 741 K 6-9 280F3 | | # &= 6-8 4201 | | =R 1-6-9 3,280

7 B 9 170H 1-9 1,500 | | & = 6-9 610M | | 3=E 9-6-1 18,020
6 110M 1-6 20| | B ® 9-6 1,650M
1 260

ABICOVWTRDTEEERROODE. TR LIV,



